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Crrw : 2% wewfl ] [ Gorgs wHUCuEETaET : 100
Time Allowed : 2%2 Hours ] - - . [Maximum Marks : 100
SMlajenr : (1) Aowarsy eflamés@sd slwrs el udaurd o dratsT cratugeman

sfluriggé Gasrarareyn. oFslLSeld Gopu¥mLdea mné
gemarantluurerflib 2 L anguins Ggfelésean.
(2) Pow ez sHUY ewvuloar LLECL dipsausHEb,
23 ECETEHousHE LWaTUBES CouamHb. UL RISET cuenTeusnE
GuenFled LweTLHSSeLD.
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
' fairness, inform the Hall Supervisor immediately. '
(2)  Use Black or Blue ink to write and underline and pencil to draw diagrams.

G@UlY : Qevellemrsgrer mrew Gfoysmars QsrearLg).
Note : This question paper contains four sections.

191fley - 1/SECTION - I
(EUGueTseT : 15)/ (Maiks : 15)
GOLY : ()  Qudifede o grer :{simg‘{g%‘aﬁi%gmﬂ@m. 15x1=15

(i) QarR&siul Gt BTk el safio Waeab sfwrer ellemamuws
Coipls®ss GO el ulmaub Cibg wes.

Note : ()  Answer all the 15 questions.

(i) Choose the correct answer from the given four alternatives and write the
option code and the corresponding answer.
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1. AB = Hu Grend sarasEssd (A\B) U B\A) N (AnB) =

(=) ¢ (=) AUB (@) AnB () A'nB

For any two sets A and B, {{A\B) U (B\A)} n (AnB)is:

(@ ¢ ®) AUB © AnB @ AnB
2. 1,1,2,35 8, s GTEMD Qi euflensulien 8-cugl 2 QL :
(<=t) 25 (<) 24 (@) 23 () 21
The 8th term of the sequence 1, 1, 2,3,5, 8, ccccccsniin I8 :
(@ 25 ) 24 © 23 @ 21

3, am QuBEEs Asroi aflesde 3-ag o muiy 2 eorafld Sigem WPFL
5 e mlLseflen QUmSsHURET

(i) 52 ()7 (&) 10 () 15
If the third term of a G.P. is 2, then the product of first 5 terms is :
(a) 52 b) 2° () 10 d) 15

4. f.(x}=2x2+{15+3)x+5 Grs,__z_sji.b: .lj-.dJQIQ].IEJI_.]é;@aaWGmGUUE]éﬂT Q@ usflunseflen
amBs0 YEHwbwalle p-ar wHuLy:

(@3 ()4 - (@& -3 () —4

The sum of two zeros of the polynonﬁal F(x)=2x%+(p +3)x+5 is zero, then the value
of pis:

(& 3 ®) 4 @ -3 @ -4
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3
ax?+bx+c=0 eTenD FAUM I 6T pPEISEHT FOW erafled, c -am WL :

2 2 | .2 2
(o) = (@) & @ == (M o

If ax2+bx + ¢ =0 has equal roots, then c is equal :

bz -b2 _ __bz _bz
@ o ® = © - @ -
AT
(5x1)|~1|=(20),erafléd x - an L :
3
(217 (=) -7 @) 7 (7) 0
»
If (5x1)|-1|=/(20), then the value of x is :
3
1
(@ 7 ® -7 © = (d 0

(1 1), (0, 1), (0, 0), (1, 0) Hw yeraflgemmed Syevoufd BrdsTSHer Uiy :

(4) 3 5. @@@eseh (<21,) 2-..;;. DAV GHET

(@) 45 G (F) 1¢& @@

Area of the quadrilateral formed by the points (1, 1), (0, 1), (0, 0), (1, 0) is :
(@) 3 sq. units (b) 2 sq. units

(¢} 4 sq. units ' (d) 1sq.unit

6373
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8. | (2,-7) erenp uyerell aiflE Qedegd x-AFHHEG Qo@rwurargomen
CrraGariiger swearur( :

(=) x=2 (2)x=-7. (&) y=-7 (F) y=2

The equation of a straight Ijné passing through the point (2, —7) and parallel to x-axis
is: .

(a) x=2 b) x=-7 (© y=-7 @ y=2

9. uLgHd LPAB=120° erasfléo LBPT =

(@) 1200 (=)30° (@) 100 () 60°

In the figure, if APAB=120° then ZBPT=

CB
]

(@ 120° (b) 30° () 40° ) 60°
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5 6373
@@+mﬂrgmrr§.§ WpéCarammusaflen spmeteyser wpenCu 24 cm , 18 cm arens,
L5e WECHTamSHeT R LUsSD 8 cm creafle LpEDTE, WeECsTanser SisHeE
R5S LIESLD :

(<=1) 4 cm (<1)3 cm (@) 9 cm (F) 6cm

The perimeters of two similar triangles are 24 cm and 18 cm respectively. If one side of

the first triangle is 8 cm, then the corresponding side of the other triangle is :

@ 4em (b) 3em €© 9cm d) 6cm
UL gdleo AC=

C

] ™

A 25m B

(o) 25 8 () 558 (@) 28 (7) 25715

In the adjoining figure, AC=

C

(@ 2m ®) 2543 m (©) Zm (d)  25(2m

)
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12, (1—cos?0)(1+cot?8)=

(<=t) sin®8 (=)0 (@) 1 (/) tan20
(1 —cos28)(1 + cot?) =
(a) sin2p b) © © 1 (d) tan28

9 .
13.  —mcucm, 5088 sa1 erey Qarar,. Carergdler <y ribd :

16

4 3 3 2
(=) 3 cm (%)Em (@) Ercm () gcm
If the volume of a sphere is %Tr cu. cm, then its radius is :

4 ' 3 3 2
@ 5em. ®) em @ 5om (@ 3

4. xy z-en gL fledsd t erafld x+5, y+5, z+5 -an H_clavssid:

t
(=) 3 () t+5 (&) ¢ (/) . xyz
If t is the standard deviation of x, 1, z then the standard deviation of x+5, y+5, z+5
is: .
l I . T
(@ 3 ®) t+5 @ t D) xyz,

15. A cranp Blspsfluien flswssey p erafle Kaumauaraubile p erang Hlenmey
lFwugb.
(=) 0<p<1 (@)0sp<1 (@) 0=sp<1 (7)) O<p=1
If p is the probability of the event A, then p satisfies :

(@) O0<p<1 b) 0=p=1 (¢ O0=p<1 (d) O0O<p=1
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Sifley - II/SECTION - II

(LHUQuesTseT : 20)/(Marks : 20)

() eflenm eTam 30 &F Sa@TQLUNS dlewLwefll§sayn. s
14 dlemssaflflmbs aCoaib 9 lamasamens Gairea| Claweib.

Note : (i)  Answer 10 questions.

16.

17.

18.

() Question number 30 is compulsory. Select any 9 questions from the first
14 questions.

Qar@ssuul Garer F=((1,3), 2, 5), (4, 7), (5, 9), 3, 1)} erayd smi9ne, wHOUSL
pmb e5FFsD < dweuhenn sres. '

For the given function F={(1, 3), (2, 5), (4, 7), (> 9). (3; 1)}, write the domain and range.

20 YpGaTLFHd Wwsd awflemsuler 23 Crmegrs Cls.sar. 2 -1b euflensufenr
21 Grregmé Qag.ser, 3-1b euflensufed 19 Crmgré Glaig sar erem apepmudied Grmeons
Cegser @ Qariir aflas Siewiild o drearar. smL8 aflastld 5 Grregré
Qegsar @rLuder Sy HCsT L s rggenen auflenssdr o ereme.

In a flower. garden, there are 23 rose planfé in a first row, 21 in the second row, 19 in
the third row and so on. There are 5 rose plants in the last row. How many rows are
there in the flower garden ?

3%~ 1722 +31x - 12 eTémLIeng 3x—2 246 UGSGL Curgl flen &G ey wHmILD
B sreims.

Find the quotient and the remainder when 3x3—17x2+31x—12 is divided by 3x—2.

[ SIS / Turn over
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19.

20.

22,
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3+7,3—7 dweupen pensarss OsTETL GHUGE FLETLIT 1L 6
&TCHT 5.

Form the quadratic equation whose roots are 3+ V7,37 .

2 3 1 5
A= [_9 5] - [? _1], erafled A-em sl Led Criorm yenfllepns sreamns.

(2 3 1 5
I A = [_9 5) - (7 _J, then find the additive inverse of A.

1=

i+

aj; erenm 2 LI Fenend ClaranL eufleng 2 X2 o e janfl A= [a;] Wienew

D DDEHE.

Construct a 2 X 2 matrix A=[a1-j] whose elements are given by a;; = I—'—;-l .
t+ ]

(P2 0) , (0, q2) , (1, 1) eresuen Gy Cﬁ‘r_r;r'rei;@én'f_nq_éd SIELDWiD qs?raﬂa;&r )
1 1

— + — =1 eran Hlpiays.

p q

1.1
T =1

P q

If the points (p? 0) and (0, ¢?) and (1, 1) are collinear, prove that

http://www . tamilnaduboard.com
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ABCD erenin BTOSILD, SiGe eTee LSSEEEHD QF Ul LEms G]g,rr@mrrgu
SiepgleTarg. AB=6 cm, BC=6.5 cm and CD=7 cm, erafléd AD -an1 Bersenss
STEHTS.

ABCD is a quadrilateral such that all of its sides touch a circle. If AB=6 cm,
BC=6.5 cm and CD=7 cm, then find the length of AD,

(sin®8 +cos®0) =13 sin?® cos?d eremp PHEADTmHE LMWL Hlmeys.

Prove the identity (sin® +cos®8) =1—3 sin28 cos?6.

30 8 Bemqpener @ sbLgHar Hipaier Berd 10v3 18 erafler @Rweflan ghmé

Garamgdlen (say w1 SHSmHs ghns Carambd) ierelameans smams.

Find the angular elevation (angle of elevation from the ground level) of the Sun when
the length of the shadow of a 30 m long pole is 10v/3 m

e Hamo AamrsCareargdler eueneturl 2772 £.05.15 arafld iser GLrss
LOUUTUM IS SiTenTs.

If the curved surface area of a solid hemisphere is 2772 sq. cm, then find its total surface
area.

@ Hawmo FiblGen b wHmID FTuWTD weanGu 20 cm HMILD 29 cm erafléd
SISSeMDE FnlDIYl6T ST SeTeneus STeRTs.

Radius and slant height of a cone are 20 cm and 29 cm respectively. Find its volume.

Wso 13 Quied aramseflen S L elesssmss srams.

Calculate the standard deviation of the first 13 natural numbers.
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29.

30.
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10
A wigid B erémp @ran® Hepsdsaic PA) = % P(B) = % oo PAUB) =1
eresflen - |
@) P(AnB). @) P (A UB)

L Hlueuhenns STes.
If A and B are two events P(A) = % P(B) = 176' P(AUB) =1, find

(i) P(ANB), (i) TP(A"uB’).

A={x|x - eremigy 42 -eo1 LI&TH Syenfl}
B={x|5<x <12, x e N} opmb
C={1, 4, 5, 6}, erafléd
AU (BuC) smewrs.
3|60V

yerefl (1, 3) @ BOH&CHETLE ewwwiorss Clsrar . psCaransdler @ (penarser
{—7, 6) pmib (8, 5) erafler WP&Caramrghlen 3-cug Wanaenls SIS,

For A={x|x - is a prime factor of 42}, B={x|5<x <12, xe N} and C={1, 4, 5, 6}, find
Au(BuQ). '

OR

If the centroid of a triangle is at (1, 3) and two of its vertices are (—7, 6) and (8, 5} then
find the third vertex of the triangle.
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ifley - I/SECTION - III
(fluGlueiser : 45)/(Marks : 45)
GOy : () 9 eleésEEsE eNen_welldEayLb. 9x5=45
(i) ellenm erawr 45-6@% SETIELLTS e wellGseybd: (PH&
14 eflemésaflafimps aCagb 8 edamésmar Caia) Qeliwayib.
Note : ()  Answer 9 questions.

() Question number 45 is compulsory. Select any 8 questions from the first
14 questions. :

31. Geuaw uLmsemert LweU@RSS (AN B)' =A' UB aarLmss sflumiés.
Use Venn diagram to verify (A n B)' =A’ u B".

32. emiy f:[=7, 6) > R Sp&sameurny cuenrunssiul (Herers),

x> +2x+1 ; —7<x<-5
f(x)= x +5 ; —Sb=x=2
x—-1 ; 2<x <6H

Yemaumeuaneupenmé &meTs.
B 2 (~9+3f(2)
@ f(=7)-f(=3)

L Af(=8)+2f(@)
Ry )

A function f: [~7, 6) - R is defined as follows :

x4 2x +1 ; -7<x {_}5., .
f(x)= x+5 ' ; -5sx<=2
xr—1 : 2<x <6

Find: (i) 2f(—49)+3f(2)
@ f(=7)—-f(-3)

Af(B)+2f@
R Ty
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33. @m &L (H50sTLT euflensufied 10 wHmb 18 BLeug 2 mULEET apenpCGu 41
wHmib 73 erafled, 27 cugl & MUMLESTES.

The 10t and 18t terms of an A.P. are 41 and 73 respectively. Find the 27" term.

34, 16 cm, 17 cm, 18 cmy, .oovevvrcrnne , 30 cm L Hweupmn WPDGIW LUES HHeTa SHeNTHS
QarawL 15 & FEITRGeTa e eTasetenn FmhSe Sres.

Find the total volume of 15 cubes whose edges are 16 cm, 17 cm, 18 cm,.....ceecee. , 30 cm
respectively.

35. Sige: . 116l
x+1 x 30
Solve : % +x+1=61

x+1 x ﬁ

36, x4—10x3+37x2—60x+36 6T GUTES (POFDGEETENS.

Find the square root of x*—10x>+37x2—60x +36.

37. 3x%—6x+1=06T6mn FOGLITL 1g6D @pauréjaseﬁ o, B erafler SLREFTEMID APREISEETS
QETaTL. FLETUTHEMNET ANMDES

1)  o%B, BPa (i) 20+B, 2B+

If a and B are the roots of the equation 3x*~6x +1=0 form an equation whose roots
are :

() o, p2a (i) 2a+B, 2B+

http://www . tamilnaduboard.com
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42,
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a by . 10 g
A-——(c d] oM ILD Ig:(o 1], GrsﬁﬂsuA2__(a+d}A=(bc_ad] L, erem ﬂglalai.

a b 10
If A= (c d] and I, = {D J, then show that Az-_(a+d)A=Cbc—ad) L,.

AABC e (peneaser A(2, —4) B3, 3) C(—1,5) etaflév B -ulledlmBa euenmwitiLBD
©&815CHTLH s Qadanb CrieCsmiiyem Foaun L &res.

If the vertices of a AABC are A(2, —4), B(3, 3) and C(—1, 5). Find the equation of the
straight line along the altitude from the vertex B.

(—4,5)(0,7) (5, —5) LHmIL (-4, —2) @ yerafsemer (PDEFETTEHS (ol remT_
BID&TSElen LTleamLs Sreams. : '

Find the area of the quadrilateral whose vertices are (—4,5) (0, 7) (5, —5) and
(—4, -2).

40 5 2 wraperer @ Caryrsden o 58 LHHID Sy fuupdlaimbs @
somsoy dlasflar o sfluller gps Caramiiser wpenGu 30° whmw 60°
erafled, swkisamy oflersdar 2 58S Bhe Carursder =4&se o drar
SITEDSWLD STetTs. .

From the top and foot of a 40 m high tower, the angles of elevation of the top of a

lighthouse are found to be 30° and 60° respectively. Find the height of the lighthouse.
Also find the distance of the top of the lighthouse from the foot of the tower.

@@ Slamo Cpir aul L 2 mevaruden auenarILFLIL wHmLD Qordsl ymligly
G 880 56115 |, 1188 5.05.18 erafld DISE FE S|ETEOEUS &GS

The curved surface area and total surface area of a solid circular cylinder are 880 sq.
cm and 1188 sq. cm respectively. Find its Volume.

{Q@Dq&s / Turn over
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44,

45,
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18, 20, 15, 12, 25 eranp efleurius@hs@ LIMUTL (& Cspmaus Srems.
Calculate the co-efficient of variation of the following data :

18, 20, 15, 12, 25

@ UGG 2_aTer ramauisafie) 40% Guit sawfls aflanis. eflen Blabasluiigis,
30% Gui siflefwe eflenmg eflarm Hlspsfudab 10% Cui sicueiiyan(® eflemiy
err Blapsfsafgib sobs Oarar_am. sdaEuidGbg so ambuy
ponW¥d g wramauea CaiboshaslulLTd, el smfils ellammiy. eflamm
flapsfudGar sideg ifleflud eflamy alamm BlapsduiGaon Sidag B
AspsfsaigCar sabg Qsrar_gparar Hepsse, STams.

In the class, 40% of the students participated in Mathematics - quiz, 30% in Science -
quiz and 10% in both the quiz programmes. If a student is selected at random from the

class, find the probability that the student participated in Mathematics or Science or
both quiz programmes.

(@) @ sTés6 sLrTnrarg o haamier g by Gameanps 6ulg.66d
S@wpseTaTs. FMLmsHa Qurss ewrb 49 15, oigen SiguLssGHern
AL b 42 8. o mevarly urssden ewphd 21 15, Gogd 1 &.15 Sismar.
gaaflder efena T 1250 erafled, sl b Sieno&ss Caemanurer Sggren

glamuller allenaens a;rrsb"n'ra;.(.r, = %j

S| 60605

(<) Ganem @Ea@a vs Coppssar wpsmaanu pd fnos.

(a) A circus tent is to be erected in the form of a cone surmounted on a cylinder. The
total height of the tent is 49 m. Diameter of the base is 42 m and height of the
cylinder is 21 m. Find the cost of canvas needed to make the tent, if the cost of

canvas is ¥ 12.50/m?2. (Take T = 2?2.]

OR

(b) State and prove the converse of Angle Bisector theorem.
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Yfley - IV/SECTION - IV
(glUQuanseT : 20)/ (Marks : 20)

GSOILY : geuQeums eflenmellgid o erar @resor®) Lnng':@j silenrssaleflBhs e
dflemreneus CaimOs (s Qm darmssensein eflerwefldsayd.  2x10=20

Note : Answer both the questions choosing either of the alternatives.

46. 10 G5 oflL_qperer gm eul Lib auenys. Ul L gdlen nowSSlellmbs 13 0.5
Cgrenavadier p erentm Leraflenids GHSS @10y eTaNulelm s WL 58mE PA
whmib PB eremm QsrHCsr@adr DTHS Sigen Berhismer sansd(s.

SeVev g
AB=7 cm, ZA=80°, AD=45cm, BC=5 cm GTETD eTeY&SeT QFHTeamL eul_L
ETH&TDd ABCD euenys. '

Draw a circle of diameter 10 cm. From a point P, 13 cm away from its centre, d}aw the
two tangents PA and PB to the circle, and measure their lengths.

OR

Construct a cyclic quadrilateral ABCD with AB=7 cm, LA=80°, AD=4.5 cm and
BC=5 em,

47. QueTULD epeLd Eréa : x2—2x—3=0,
jeVe0g,
xy=20,x,y>0 CTETUSEN GUEDTULLD QU] égmm LweruBgd x=5 erafled y
& wHlouyd y=10 x -ar wdlheauuyn srears, - -
Solve the: equation. x2—2x-~3=0 graphically.
OR | »

Draw the Graph of xy =20, x, ¥ > 0. Use the graph to find ¥ when x=5, and to find x
when y=10. '

—U[_)D'
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